Robin gi half
Pearl breaks 1 of her obIn glves away ha
of his pizza. He has

4 toy cars. What 12 slices left. How
fraCtIOH haS She many S|ices were
broken? there all together?

A storm breaks % of

Latrice has 24 oranges.

What is % of 447

What is % the windows in a
She eats three castle which has 40 Write the
quarters of them. How of 24? windows. How many

did she eat? windows were division number
broken? sentence.

A squirrel has 48
nuts. She eats %
of them. How
many nuts does
she have left?

Miss McLaren has 24

chocolate bars. She shares There are 36

them equally with herself, Mr children in the What iS % Of
: : Strain, Mrs Wallis and Mrs library. % of them
F I n I S h Donnelly. How many are reading. How 52?
chocolate bars does Mr Strain many are reading?

have?



